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General Instructions :
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()

The question paper comprises two sections, A and B. You are

to attempt both the sections.

All questions are compulsory.

There is no choice in any of the questions.

All questions of Section-A and all questions of Section-B are

to be attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section-A are two marks

questions. These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks

questions. These are to be answered in about 50 words each.

Question numbers 19 to 24 in Section-A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice
questions based on practical skills. Each question is a one
mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two marks

questions based on practical skills. These are to be answered

in brief.



HT-A

(Section-A)

1. 39 gASIdia ol o gt e o6 AW 3N g7 fofan foesh amm g7
C.H,, 2l

Write the name and formula of the 2nd member of homologous

series having general formula C_H,_ .

2. WG H N S HET ki G ST

List two functions performed by the testis in human beings.

3. U0 agHSd H S o 1w 27

What is the function of ozone in the upper atmosphere ?

4. GHAS FUUN R §94 AT Wiafersi & 9R Afseraon s g= s=1se

List four characteristics of the images formed by plane mirrors.

5. I @ Sa fafaua = fafte o’ = g S| 87 9@ 9 3urEi
T FA13T 8 FE Sk 91 Td FSad o Ta-gH § 39Tt GREH

a1 2|

Why are forests considered “biodiversity hot spots”? List two
ways in which an individual can contribute effectively to the

management of forests and wildlife.



6. ‘GO gewa @ w1 aread 87 [EHU Al qo1 B Q39 HJ
3T W ST 27

What is meant by “sustainable management”? Why 1s reuse

considered better than recycling ?

7. Yo 3fua 3emtor it ggrmar 4 81 Ot st & fog stasas
qiffqal =l Jeoi@ Fd §U, TIFGISHIHE TR i e i

T 36 AR A a4 I & Wifasw e § 21 I ufEads @
3ecr@ ot Fifr
With the help of an example, explain the process of hydrogenation.

Mention the essential conditions for the reaction and state the

change in physical property with the formation of the product.

8. THEle gf¥ ¥ TG qem AUHTSIH o AT § FIT =R Tl 87 HgH
T GETS A 1 R &Y =men il

What is the difference between the molecules of soaps and

detergents, chemically ? Explain the cleansing action of soaps.



9. Tl i YAk ST GRef H TR IR S7raat i vE fafau) 3eaw
ST TR qeatl o TEATY] ATeW MR arfees 7T (S&aon) § =R uf@da gid
g:
(a) Toreht o & W = S )
(b) et a7rard 4 o7g A TE ALIH W
How many groups and periods are there in the modern periodic

table ? How do the atomic size and metallic character of elements

vary as we move

(a) down a group and

(b) from left to right in a period

10. 719 F8 da feg w2 -
4Be; oF; 10K 5Ca
T T (i) 98 dd g 5@ angran e U geEeA 2, (i) 99E
T % &1 dcd Y| T | K T3 e X (2,8,7) % T & &4 Fifiieh
T T T fafam
From the following elements
4Be; oF; 10K 5oCa
(1) Select the element having one electron in the outermost shell.

(i1) two elements of the same group.

Write the formula of and mention the nature of the compound

formed by the union of (K and element X(2,8,7).



11. .01, fcehfa 51 27 39 Hacd il Jooid hiteg|

12.

13.

14.

What is DNA copying ? State its importance.

Shaet AR Frt <l HERIAT ¥ B13gT H & ohl AREAT It
Explain budding in hydra with the help of labelled diagrams only.

THEt g 3TN A arelt 1Ay i Rl 9 fafern i g=h

T30 3 Tt o Suam foref aftan & e 31k gafe =i T w9
¥ forg yepr gwferd sRear 87

List any four methods of contraceptions used by humans. How
does their use have a direct effect on the health and prosperity of a

family.

“TH N guEd Sftaq & Afia argval IR Amarsti At A St
et ! FIIA a1 W TRd | T8 FHUA T Y I Hied F0T IR
e

“We cannot pass on to our progeny the experiences and

qualifications earned during our life time”. Justify the statement

giving reason and examples.



15. (i) wmi@En e, Al 3R FA%h @t § 33 81d 8| 1 &9 %
A = g wmTR fowrdty Iaf i wfid FE # g
87 3w I gfE Fifsrgy

(i) ““ofet =1 faem wlgdl & gem 217 39 FF & T O g
EAIS 1

1) Planaria, insects, octopus and vertebrates all have eyes. Can we
p y
group eyes of these animals together to establish a common

evolutionary origin ? Justify your answer.

(11) ‘Birds have evolved from reptiles”. State evidence to prove the

statement.

16. T foRtor am@ wiem & foe gm @ fameot o 3w o €)1 39 fomont
! 39 THFR TAd ¢ T 00 & wrada o vgard et feemd exerdr & 31d
1 ST Yok | 36 TR A <1 Foreul FFAT qem s1aqe gdor & TadH o 9eard
3 Tt o gy st foem faflau) 7 3FT feraemt =t 3911 10 cm ®IF8
T & Faqd U ¥ 15 om g0 W @ et fonm & <dor g am
hferat it yepfa 3 feufa 30 @ 4 iy

To construct a ray diagram we use two rays of light which are so
chosen that it is easy to determine their directions after reflection
from the mirror. Choose these two rays and state the path of these
rays after reflection from a concave mirror. Use these two rays to
find the nature and position of the image of an object placed at a

distance of 15 cm from a concave mirror of focal length 10 cm.



17. Fmifehd 3@ H FeRd @ =i HiVe 6 gaiea R gafea & 73

18.

T @A 1 Wftd grar 27

With the help of a labelled diagram, explain why the sun appears

reddish at the sun-rise and the sun-set.

TeTIaTt o gyt Uk 19 first o @y e 3 ureh o fusfaes o

gft A9 1Y WiSH-ah F wfeed R AfeRi stuan fesat §

Feh A M| SIS FHIH o 999 $8 fiEl 3 96 -39 WisA 3R wnfees

1 AT Y T Fh IR TAH A AT SHTS T TRl A I8 T &l

T § Tl 36 o= g3 -l o wat & foas &

wifeee it Aol 3R fesai @ orem Faah Tk & FH H W FAM: R

IR A FHSeM! H STeA 1 goa AT

(a) 3T foEm & wnfees it aegawt it STAmT e & fuer &
qafaru-feddt fafer 37 w17 Ty g AW T Y™ F 14

(b) fﬁ%maﬁaﬁwr@ﬁﬁsﬂ%&maﬁwémé?

After the examinations Rakesh with his friends went on a picnic to
a nearby park. All friends carried cooked food packed in plastic
bags or plastic cans. After eating the food some friends collected
the leftover food and plastic bags etc and planned to dispose them
off by burning. Rakesh immediately checked them and suggested
to segregate the leftover food and peels of fruits from the plastic
materials and respectively dispose them off separately in the green

and red dustbins placed in the corner of the park.



(@) In our opinion, is burning plastic an eco-friendly method of
waste disposal? Why? State the advantage of method suggested

. by Rakesh.

(b) How can we contribute in maintaining the parks and roads neat

and clean ?

19. A1 HINT o A qead: gaarsi e g/ & AR & i
T HA | FHeH g AT Fen 1 Al 1 fmfor e S & @
Y@ FRUN I G&T | A1 HIT| T FHIfT fh e grn ke
31 dedl o gy A ey yardt @ g 2
Explain why carbon forms compounds mainly by covalent bond.
Explain in brief two main reasons for carbon forming a large

number of compounds. Why does carbon form strong bonds with

most other elements?

20. HE TTE S 9 § Frefataa & s fafae
VST, HASATEHT, THII™
o7 T AT o YR H TiveT 568 Tk 918 191 27 F&9 # guiq HIfsg

Write the functions of the following in human female reproductive

system :
Ovary, oviduct, uterus

How does the embryo get nourishment inside the mother’s body ?

Explain in brief.



21. HHal | ol o oA IS 8id &7 7 & fom-w3 o el 1w
27 yal # forr-gx forad yR % B1d 27
Tt awTTa Ry = o, W g & qen SHeR (rar- o) 9 fee
&t ft ggeh fou @Rl 381 a9 S TRatl’ §9 YA i gie TR
Fgstd frg) & fom fafon i gfswar & 29i aret yare s @i i
EAIS 1

How many pairs of chromosomes are present in human beings?
Out of these how many are sex chromosomes ? How many types of
sex chromosomes are found in human beings?

“The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it”. Draw a flow chart
showing determination of sex of a newborn to justify this

statement.

22. (a) W& & quadq & o feafae| fardft mrem & Frder stoadaies it
1@ HIfSy 3 fAafa § T &t 9 & Ty 39 G T g9
JreT ek fafaw

(b) A AT ‘A’ 3R ‘B’ & fuer aruadars F:E9: 2.0 3 1.5 81 IS

ey ‘B’ H Yeh1e Al =91 2108 m/s ©, @
(i) fata,
(i) AT ‘A
o YehTST sht IS qftehicra hifsia)

10



(a) State the laws of refraction of light. Explain the term absolute
refractive index of a medium and write an expression to relate it

with the speed of light in vacuum.

(b) The absolute refractive indices of two media ‘A’ and ‘B’ are 2.0
and 1.5 respectively. If the speed of light in medium ‘B’ 1s
2x108 m/s, calculate the speed of light in :

(1) vacuum,

(1) medium ‘A’.

23. “FIE 399 <" FAUA TR W R fora  wen fafifa gfafom &
a1 -1Y I fafifa yfdfems oft s weran B17 39 e i gfE & foag
TR Fertor st Efifere qen wee YR | o o g for S fedfa
1 JeTi@ Hft HiIfT|
4 cm $HTS T IS fod 10 cm @waﬁ%mﬁa@ 20 cm W
ferd 21 o8 G o 39 W o g T4 aret wiafers i feufa Faffa
e
“A convex lens can form a magnified erect as well as magnified
inverted image of an object placed in front of it.” Draw ray diagram
to justify this statement stating the position of the object with

respect to the lens in each case.

An object of height 4 cm is placed at a distance of 20 cm from a
concave lens of focal length 10 cm. Use lens formula to determine

the position of the image formed.

11



24. 13 BE AT 4 m 0 W @ samug W ford aver = w0 18w
qTaT| 9% BT 54 gfE-3 @ difeq & 3u AW fafaw) 39 39 % e
& fafy it = hifse | 39
(i) 3fE-y qen
(ii) 39k HeNEA
=1 2T 3 foTg oo s difan)

A student is unable to see clearly the words written on the
blackboard placed at a distance of approximately 4 m from him.
Name the defect of vision the boy is suffering from. Explain the
method of correcting this defect. Draw ray diagram for the

(1) defect of vision and also

(i1) for its correction.

12



W\ -9)
(Section-B)

25. 1§ BT T qT@el # 2 mL 3Hd I oo 389 2 mL CHifes e
@@ 3| 9% WA 9 39 e # Jofivifd Rae 3w )
o foe T@ 31 31 T S e o TveEnd 9 SE A 9 9Tl @ T
T
(A) T T qresf Tréhi faeem
(B) o &= UG T[airel faeiam
(C) TS YIeyT o dell WS W R
(D) UHifee o7vat &l T | ST <l T

A student adds 2 mL of acetic acid to a test tube containing 2 mL
of distilled water. He then shakes the test tube well and leaves it to
settle for some time. After about 5 minutes he observes that in the

test tube there is

(A) a clear transparent colourless solution
(B) 'a clear transparent pink solution
(C) aprecipitate settling at the bottom of the test tube

(D) alayer of water over the layer of acetic acid

13



26. Toret B A AigHIR- AR F AT FA & fAw T S |
20% . Hifeam TregiFaEe oo s mn F9 @ wefta 3= Sav iy
TR :

(I) oo § gam | et foews Hen & mn

(1) @ifean a3eiaamse St | iy oo A1 2

(111 forer—m & w0 s ST & g W 321 wefta &ian @
(V) oz § gam W e ferend o o1t 71 T
T Hel Jeqor &

(A) L IIRIV

(B) I, 11 3R III

(C) III AR IV Faa
(D) I 3R I add

A student prepared 20% sodium hydroxide solution in a beaker to
study saponification reaction. Some observations related to this are

given below
(I) Sodium hydroxide solution turns red litmus blue
(IT) Sodium hydroxide readily dissolves in water

(IIT) The beaker containing solution appears cold when touched from

outside

(IV) The blue litmus paper turns red when dipped into the solution

14



27.

The correct observations are
(A) [ IIand IV

(B) I, Il and III

(C) onlylIlland IV

(D) onlyIandII

ot TRImT ht FR & ToTT F:3R STt IgAsy T | A T A9 i e
=

() &ifeas Firrse

(Il) Hifeam g%

(Ill) SHfcoam w3

(IV) *feaam Gethe

(V) arfimm Fawss

(VD) &fsem gete

Frat feu e 37 T F 39 TR H 9 e Tes 5o 9ia 3 e
T ST ol HSR &1 27

(A) L1I,V

(B) L1II, V

(C) I, IV, VI

(D) 1L, IV, VI

15



28.

Hard water is not available for an experiment. Some salts are given

below :

(I)  Sodium chloride
(I)  Sodium sulphate
(IIT) Calcium chloride
(IV) Calcium sulphate
(V) Potassium chloride

(VI) Magnesium sulphate

Select from the following a group of these salts, each member of
which may be dissolved in water to make it hard.

A LIV

(B) LI,V

(C) 11, 1v, VI

(D) 1L, IV, VI

ol BT 9 = & IS & 1 % fafSm 9Tl @ REE R YO & W Al |
e & et g T

O =

(I 3T

(III)  TqATHT
(IV) sisos

(V) A<:shad

16



T @ U F ArEafass 9w g

(A) LII, IIT

(B) IL, III, IV

©) 1L IV, VvV

(D) ILIV,V

A student indentified the various parts of an embryo of a gram seed
and listed them as given below :

(ID Testa

(I) Plumule

(III) Radicle

(IV) Cotyledon

(V) Tegman

Out of these the actual parts of the embryo are :
(A) L 1L, 11T

(B) II, III, IV

(©) I, 1v, v

(D) I, IV, V

29. IR BHE A, B, C 3(R D & M & 19 fiu 7 ag=aai = gasia &=
A B TR 27
(A) ITIES R fodeh & @
(B) =HIES 3N Tl & T@
(C) R 3N fraeht & v
(D) T4, sk IR fushef & 3nmmg

17



Four students A, B, C and D reported the following set of organs to

be homologous. Who is correct ?

(A) Wings of a bat and a butterfly
(B) Wings of a pigeon and a bat
(C) Wings of a pigeon and a butterfly

(D) Forelimbs of cow, a duck and a lizard

30. = fu U @ sremEa difs M ghe X0 W fawa # gt wem
qfTe:

w a X
——

=

7

< 12 cm >Nl

(A) gfth ‘X’ 3rTaa g9 2 formeht asar 5 =am 12 cm @
(B) Ifth X’ HTqA 401 & Formeht ®lsFE gt 6 cm B
(C) Fith X’ 3T 34T 8 Foreehl ishe g 12 cm @
(D) Ffth ‘X’ 39 T4 & foreeh! ®rFa g8 12 cm @

18



31.

Study the following diagram and select the correct statement about

the device ‘X’

%%%

12 cm >H

(A) Device ‘X’ is a concave mirror of radius of curvature 12 cm
(B) Device ‘X’ is a concave mirror of focal length 6 cm
(C) Device ‘X’ 1s a concave mirror of focal length 12 cm

(D) Device ‘X’ is a convex mirror of focal length 12 cm

freft B 7 fou MU 399 dw g et g oo @ fag wfafers
7 T WH o 21 36 o i wied g 10 A ok e 3§ w9
IR :

(A) %o o g fora & ofter i @

(B) ol o180 3 U3 o & I g4

(C) Faat fomar 9 wikifernas o ot it gt

(D) <@ @ forr 1 gt o wra-wmy forat qen wiafors & e gl of

19



32.

A student has obtained a point image of a distant object using the
given convex lens. To find the focal length of the lens he should

measure the distance between the

(A) lens and the object only
(B) lens and the screen only
(C) object and the image only

(D) lens and the object and also between the object and the image

IR BT P, Q, R 3R S 4 = & Forelt Tia & 40° o o1 W mafaa
B T T TR aTelt kTt 3Rt faheor & w1 ot e 3R staada -
<l T ot | ek gR1 & TR AT s 18°; 22°; 25° 3R 30° off | W
I T8 1Y FA AT BTA R -

(A) P

B) Q

C©) R

(D) S

Four students P, Q, R and S traced the path of a ray of light passing
through a glass slab for an angle of incidence 40° and measured the
angle of refraction. The values as measured them were 18°; 22°;
25° and 30° respectively. The student who has performed the
experiment methodically is

(A) P

B) Q

(©) R

(D) S

20



33.

T o fe0 & o areft wehrT i T ot 1 A die & 93ET O
B A, I | I SAFAR, I I (Li), 3T9ada hior (Lr), Fid
HT (Le) q1 Formem v (D) itk fopw) 3ge6 gra 5= hron = @&
sifrd fFn TR, AR

(A) ZidR Lr

(B) Li3R Le
(C) Zi, Le 3R £D
(D) Zi, ZLr 3R Le

21



After tracing the path of a ray of light through a glass prism a
student marked the angle of incidence (£1), angle of refraction (£r)
angle of emergence (£e) and the angle of deviation (£D) as shown

in the diagram. The correctly marked angles are :

(A) Ziand Zr

(B) Ziand ZLe

(C) 4, Leand £D
(D) 4, Zrand Ze

34, 39 T YU A G e {9 39 3@ g w9 2, 99 o9 fRd
TEA H UHifew o ARt ITH U e Aifan TS FEe
firard 81 2R arehl a1t = vamfis adfis fafag)

List two observations which you make when you add a pinch of
sodium hydrogen carbonate to acetic acid in a test tube. Write

chemical equation for the reaction that occurs.

22



35. 3¥ 3IAfIh S hl FT FEd & SEH Tk SHE HIRERT § 2 Gard
IR T & 3R Tk IR 1 feded GoH B AT 27 36 TER
& T4 & gt 3R 3f<w = & fu difvu) I 99 forg afmzar =

1Y T BT 27

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Draw the initial and the final stages of this type of reproduction.

State the event with which this reproduction starts.

36. 3T TE % TR § Ig WA * fore foR for gt @ afteda W
yfcfers gt # fora TerR aftard 2iaT 2, 1S B | & bl gt 1 feora
foreht anf form @1 o8 W e yfdfers oTw A 21 T8 wwEE 97
fR-ofR 30 fora o1 T i 3R A1 B 3R R IR Ffdfersl F 98 W
IR T B |

(a) Sfdfema o BIhE 0 G99 3H 1< ! fFT I TLhMT 81 @ - o9
1 3R 3FET oG T 7

(b) 9e W s gfcfers o1 WEs wear 8, AT TedT 87

(c) foma =t o & wga fehe of ST W 1 QT 27

23



To find the image-distance for varying object-distances in case of a
convex lens, a student obtains on a screen a sharp image of a bright
object placed very far from the lens. After that he gradually moves
the object towards the lens and each time focuses its image of the

screen.

(a) In which direction — towards or away from the lens, does he

move the screen to focus the object?

(b) What happens to the size of image — does it increase or

decrease?

(c) What happen when he moves the object very close to the lens?

24





